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( EERES : RE86~99%)
BRI : Okme
EESAR:HTIRE : 012m

(_99ESAEFIAEE : 0.2m/yr

(E@mERES | BE95~101%)
BREETRES : km?
EESAR:H TIZE : 002m

(_101EEAE FIEEE : 0.4cm/yr

(" acEREs | EE95~101F)
BREETRES : km?
BESAR TKRE : 002m

\_101ESAE FIEE : 0.4cm/yr

(" micEnEs | BEE74~1025)
BEEETFRES : 13.9km2
EES AR TIRE : 249m

(102 ESAE FIEE : 4.8cm/yr

(" EEREs | EE64~102F)
EREETFIRES : 16.5km:
EESAS:H TIAE : 246m
(_102E S A FHEEE : 3.8cm/yr

( Em@EnEs  RE77~1026)
BaEE T REE : 0km2
BEEAZS FIRE : 1.50m
\_102F HAF FHEEE : 2.5cm/yr

( am@EnEs : RE77~1005)
BREETRES : km2
BEESAS:HTIRE : 102m
(_100E S A% FIEESE : 2.40m/yr

(" sEERRES | RE76~100F)
B SETFRES : km2
BEESABHTFIRE : 025m
(_100EEAE FIAEE : 1.8cm/yr

AlbENREE . EE39~102%F)
BaiFEFIRES : tkm?
BERARSTIE : 210m
102F EAE FIEEE : 1.5cm/yr

HE(ENREE : EE73~101%)
BaEETEES : Okm2
BEEAETEE : 047m
101E S AE FHISE : 2.8cm/yr

BEENES : BE61~102%)
BaEEFEES : 4.1km?
BEEAEF THEE : 340m
102FEEAE FIEEE : 3.9cm/yr
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